httne*//haln nknm rn/admin/me/detzil 2<[italN=123RiA=1717

2021/11/110 T4F4:25 RIS RESTEITEIEFR
NSRS RESHZITEIEERE
NRNIRSRESTHITELIZEIFR

e
PERAMNFARERRAT ERBARKXBRAT 4L 100013

U] 1 T NIZR 2 S A7 3T 3 A s NI 5100 A s, A2 A, X T m ks 2 (R 57 04 2555 18 T HERT
2 5 R I L0 R T 1052, IR 25 B EAL TREs R S A7 8 A E M o JCH AR S A M TR 8 E TR R
A%, N EE R DR U S A AT A E R, AERUERR T E AR TR R R, RO SR, AR ERATBET
NGRS B A AT AN
[RB2IA)] (15U, mifkls; Teras THERL TiEAs;
OmI=

A R T B ] RN I AN A A T AN 2%, e S o i v RO I ¥ (o3 5 18 5 HE A,
BRI RS I TR TR R T, X R S N ORI R, R RO e T A
hRESEHL 1 R T SA7 BAE I B 3 A, (H— Bt N OEA [ RNE Bl R, BAEBURGE, TRk
PR AES, A TIEE TR SRR A s J2 ) 5 far Bt SR AR R 2R RS, — T e A 5 W 5 2 P 1E A

P, oS RARSAL K SRR IR I S A SR, AETRAT RS R R R, I
it

1 REFNTEESHTHITERNINE

FL A AR T QRIS 4 R P o] DA (S Rk (RT3 E AT 3 r 2 P 2 ROAAT B, Tt N B mT U R i 2R AT EL AR 11—
woipe” » AMEEMRSE, OEEARTE. 20K, RS R RS VISR S E S R
FEBESH, WTHEFTR

r ] " - !
I =l Ft Eﬂ# Wiy menl Tesl sk soel SIETH ..rl.
R - . -l

|TRES R anu

wEswas: OED
BArBE aniwi ' N BTk B
AT fnm =
- A5 1% T [ h__ 180
I ETTEM el ] -"_-_._:‘
I~ RS
FaEmn
gAama s _mnrERey
#E: fF-AENE. SEEaNTRNEREN-
A= -

SR ERgjgtm.com /MNAQQ1554182U7 55



MRS RE ST BT EFR

2021/11/10 T4F4:25
K1 — R hRE
AL T D RE A AT T ey B AT A S R T (7 B B A A AR LA B S A AR

PRPM iR T 1L 3 4- 20093 R 228) F

PiPM HEgo=ESan

S

. — [ e L o Bt

5 E N W 7 K| St ores

BIES EIE Giosan MR ST FR o = O iR
T waen Bosel

BEOE - 1o 1.

P2 g e I B R

2EREEESHHAITELRE

RATBE R TR0, 4P ees R I ARAR SR T M T AR S0 A BRI TR IS L5
G4 40 55 R AR P 5 RS AR S R A IR RS ke
2.1 TIRSEHIBR

1 F BRI T RIS, FEEMAREEAR, WEORE10. 45K, B2k, (RESFILG. 855K, BEIEO

_ 2
K, SZHEIVERENSK, FEAEH HONO0. 5kN/m

B3 1] I 2R S 77 12

MR gjgtm.com IMAQQ15541821EEE3E

httne*//haln nknm rn/admin/me/detzil 2<[italN=123RiA=1717



2021/11/10 T°44:25 IXRIESEE ST B EF R
R (Rral ey &7, 2. 1R )= 1 Z R 2 SR ES AL B A S 0 A G A AN ) E1 43 A i il 2, FRHE T T 50K
BRSO R E AES R AL Z5 HEAR I 150

TS HER PEASHIER2EFTHHELIE:

r - Ay

Wi 12 ™10 R ¥ [\
oty ;.._ﬁ'_:.;
20 1o
a i

20,
ex Ep
W Y PO | B b _p<a

a=2h (4m<Za<8m)
Poa=(b1 +b2)/2h{( 2. 0=pt; n<<4. 0)

P25
=
=
hat
ey
[
+
alig

G J22 1 5 i 3 2 A1 R O

a=2h=2(1045-6.85) =7.2m(1.1.1-1)

o = 2= 22 = 4.305(1.1.1-2)
e >4
- BSR4
FAER R ST HR. ¢~ Pomdo =4 X 0.5=2kN/m? (1.1.1-3)

A% BN RE S MASL= 2Xx8=16kN/m (KRE@HS,L= 05x8=4kN/m
AHEGHREIMEEHERMEN 2x05x8=8kN/m
AaasrmmRnfEEEEa N 72 XK.

httne*//haln nknm rn/admin/me/detzil 2<[italN=123RiA=1717 %mgﬁ*@ |§-|JE:I§L9J. gtm .com /J \AQQ1 5 541 82 qi%%ﬁ



2021/11/10 T°44:25 IXRIESEE ST B EF R

4
(6] g
3 [ ]
HERT, F ) i £l (Fx) R
(= ] ma |
T e sl
K]S ANEIE AR 1 RFE 0 8 IR BS S 0 55 A 3
I 1
8
] L ]
Hﬁn, P T T3 B=x) Fi
% 1 -
wi | na |
b b ol

PElG AN 53 A2 TR O (6 A0 30 5 6 80
FEEREFHE NS, SRR B,
RBEXARRACEHESHERER T ETH I T

1) MR ARA. 3. 3-1R14.3.3-20 8BS HERL i

httne*//haln nknm rn/admin/me/detzil 2<[italN=123RiA=1717 %mgﬁ*@ IE-'lJEI:lg-g.j gtm .com /J \AQQ1 5 541 82 qi%%ﬁ



2021/11/10 T°44:25 IXRIESEE ST B EF R

BEFHE RN 160kg/m?

_ 1005, _ 100x05 _ i
hy = e 0.3125m(2-1)

h,— hy =3.6-0.3125=3 2875m(2-2)

hay = 0.413YW5, /5o +0.479 - 0.457(2-3)

=0.413V22V05 + 0.479 - 0.457 = 0.702m
hgz = 0.208YW5;4/So + 0.479 — 0.457(2-4)

= (0.208V9V0.5 + 0.479 — 0.457 =— 0.0267m
FEEFEER: hy =max(hghg) =0.702m(2-5)

Soax = hgXp =0.702x 1.6=1.1232kN/m? (2-6)
I ZE AR A Be ey ey BN
IS0y X L= 1.1232 % 8 = 8.99k N/m
HRAE TR ZE R4, 3. 4-62KZEK -

Bhy < h, — B, we=4hg Zhg > h— kB, wy=4h2/(h, — hy) < 8(h, — hy).
A8 UL

hg<h, —h BEEEEELE: woy=47y=4x0702=2.808n
EELEEIERERA: hpol=0.3125x 16X 8= 4kN/m’

UM REFHEN T Mk, 5 L Reg 5.

8.59 0

INLEEEEEgjgtm.com /NAQQ15541821 s=2818

httne*//haln nknm rn/admin/me/detzil 2<[italN=123RiA=1717



2021/11/10 T°44:25 IXRIESEE ST B EF R
B7 5 HERUE L SRR E RS AL TS ff 4%

SEREREART10ER#HEREREDSEBEE

RBIIRBRACER  SEETAAATI0 AARRG LT TRANM_S, REBHR
EHE WS, SEHEDEN 0%, ERAMHRA - h," SRRTRENGEE

SRR g SR 1 03w SO 12, 655K, ME R BEANAE, BRI g S8 T R =, B TRT P T

T

L]

W

P8 25 18 R T A A A Y

IRYEHEER : BB FEBN, REEEPOVREHEREENL 46, B

14h; =1.4x0.702= 0.9828m
5 l"uid = h., - h‘ =3.2875m

~ EESERHFET AN 1.4h, = 0.9828m

Spasdrine = 1.4y X p = 0.9828 X 1.6= 1.5725kN/m’
RIS HESEEEAREAER: Sy X L=1.5725x 8= 12.58N/m

WIS AR5 P8 AR, T 28K et A B «
R MR 5 2 18 T HEAR — L,
TEEREFHEN TR, SHRELSRE 5.

INLEEEEEgjgtm.com /NAQQ15541821 s=E51e

httne*//haln nknm rn/admin/me/detzil 2<[italN=123RiA=1717



2021/11/10 T4-4:25 TNz S RE SRt E IS TEFR

FE19 4 F 5 RS L, TR R B R 7 4
3 B4

P EJE R TRESCIVEAN s 1 mRES T 2NRIZR AN 210 A i L R T far 28, (RS HR AL T HERR . SRR
AR, R 7R E IHE TR R RN, it A S R AR S AT R T S AR R AL AT RS, ESEPR TR
TSR T AT B0 E A EA

S35 3CHR

(1] GB51022-2015, [ JANIAERR 55 BNES B ETE[S]. bRt T EES Tk iR AL, 2016
[2] CECS102:2002, [ JAUMIZEEE2 53 2 A5 K BT [S] AL AT hETHRI ik, 2012
[3]  GB5009-2012, {ESFLHATEME[S] AL AT EHESH Toll ik, 2012

[4] BR AR B SC. T 1 SRS 52 70 s e A ) A0 v 5 L e il RO SC M. bt o [RI B e A, 2009

httne*//haln nknm rn/admin/me/detzil 2<[italN=123RiA=1717 %mé%$@ |§-| EE-gj g t m.com /J \AQQ1 5 541 82 qﬁ%%iﬁ



